1998 4E K FL[6]

= OV A 2 BT TR Yo T o 7 T I E ST Th B, t=0 tzs_gﬁ
2=t (0=t =3) TR DD —LDE S, L(t)=2—§tki§?§ﬂéo / \
LOSV2 DL X x4+ y2 Z1OMMIEIEE LRV DD \\ /

Z—EtZ\/E 0<t<3——f —0

QOFHD z=t IZB T HWHED > B, x? +y2 Z1DOHnEE 2 5,

L::Jau\fogeégf‘&;@\ X2+ y2 Z1OEOmEMES() 20 THET L

S(t)=4 Sinzg_ig_i_lsin@ =4 1- Cosa—le+lsm9
2 2 2 2 2 2

=2(1—- 6 —cosd +sinb)

Lt)Z9 THET &

—L(t) co{f—g =£ cosg+sing =1—1t
4 2 2 2 2 3

ﬁ —sing+cosg d@:—ldt sdt=— 3‘/_[cosg—sme deo
4 2 2 3 2 2

Ko H IR
332
L 2" 5()dt
j2(1 6 —cosé +sinH) —ﬂ(cosg—sm jde——j @-6- cosa+sm9)(cosg—sm nge
: 4 2 2 2
ZZ7T

(1-6—cosf +sinfb) cosg—sing
2 2
=cos——sin——ecos—+95in——cosecosg+cos€sing+sinecosg—sianing
2 2 2 2 2
:cos——sing—HcongrHsing— cosecosg+sinﬁsin§ + sinecosg+cosasin§
2 2 2 2 2 2 2
:cosg—sing—ecosgﬂ%ing—co H—Q +sin 0+€
2 2 2 2 2 2

:sinEH—sinQ—ecosg+esing
2 2 2 2



T T

Fsingedez —gcosge ? :£+E Fsingdez —Zcosg ? ——2+2
0 2 3 2 3 3 b 2 2

0

’ T

J'zecos do= IZQ(Zsm jde [Zesing}z—ZJ‘;singdH:%—2(2—J§):2\/§—4+§ﬁ
0

! i

FesingdH:FH—Zcosg do= 249cos +2J' COS— d0_ 225|n —2\/§—£7r
0 2 0 2 \/5 2 1o

PLEIZEY
f{[f 2} @-3)- (zf 4+£ﬂHzf_£ J}:ﬂ[ﬂﬁ_ﬁﬁ}
2 2 2 3 3
=4+42 -3z o (%)

¥2012 AEH T K[6] Tik, Al W CTEEN S HE S -,



